

1 Thomas More Street, London

WELCOME

Our Curated Christmas 2017

Thank you for your business in 2017. Against the odds – weak pound, Brexit brinksmanship, national self-harm season – in other words situation normal – C&B continues to have a really good year and with – at last – some lovely vintages to play with – the outlook is promising.

Some of you will have noticed that Christmas is quite close. This offer has everything you will need – our brilliant C&B own label range "Corney & Barrow's Anti-Brand" as one journalist called it, Champagne, Claret, Burgundy, Port, the New World, the Old World, the Dream World, the Learning World, the Literary World, single bottles, big bottles, mixed cases, even wines to lay down for years ahead. Oh, and a special offer out of all these special offers on Delamotte le Mesnil-sur- Oger. Salon's sister house and one of the all time great secrets of Champagne.

Happy Christmas everyone.

ADAM BRETT-SMITH

November 2017



A Family Christmas



Our range is focused but resplendent in depth.

Over two thirds of our portfolio is exclusive to us.

Wines for a traditional Christmas

Christmas is a time for sharing, opening your doors to friends and family and indulging in the finer things in life. Our family of producers have worked hard all year to ensure there's something for everyone. Whether you're drinking classics or trying something new, you can trust us to deliver.



CORNEY & BARROW MARGAUX, MAISON SICHEL 2014

A blend of Cabernet Sauvignon, Merlot and Petit Verdot, this is an accessible, easy-drinking Margaux, with hallmark charm and elegance.

BOTTLE £21.95 CASE OF 12 £263.40



RULLY 1ER CRU RABOURCÉ OLIVIER LEFLAIVE 2015

This delicious premier cru offers a characteristic orange flower scent and beautiful minerality.

BOTTLE £20.95 CASE OF 12 £251.40



CHÂTEAU LA TOUR DE L'ÉVÊQUE ROSÉ 2016

A classic style of Provence rosé with vivacious red berry fruit, ripe creamy nectarine and hints of sweet grapefruit; a great match for the cheese board.

BOTTLE £11.95 CASE OF 12 £143.40



CORNEY & BARROW SLOE GIN

The high concentration of fruit to gin here creates a sweet and fruity liqueur, with a dry finish and a lovely overall warming glow.

BOTTLE £26.00 CASE OF 6 £156.00

Classic Christmas Wines

Look no further for celebratory meals and indulgent stocking fillers.



DELAMOTTE BLANC DE BLANCS. LE MESNIL-SUR-OGER NV

Elegance and poise are the watchwords for Delamotte's exceptional Blanc de Blancs Champagne from this old-established house.

BOTTLE £45.00

CASE OF 6 £270 00

* Discount does not apply to Delamotte gifts.



BOURGOGNE CHARDONNAY DOMAINE FRANÇOIS CARILLON 2014

François Carillon's Chardonnay is made from vines of up to 50 years old, from three different sites - two parcels in Puligny and one in Meursault.



RIESLING BEBLENHEIM. **DOMAINE TRAPET 2014**

Made by a Burgundian family now championing the Alsace region. This combines orchard fruit. flowers and lychee, complemented by minerals.

BOTTLE £16.95 CASE OF 6 £101.70



CHASSAGNE-MONTRACHET IER CRU ABBAYE DE MORGEOT, OLIVIER LEFLAIVE 2013

Considered to be one of the best sites in Chassagne-Montrachet, this C&B exclusivity is made from the fruit of old, low-yielding vines from Olivier's own organic vineyard.

BOTTLE £19.25 CASE OF 12 £231.00 BOTTLE £55.00 CASE OF 12 £660.00



CÔTE DE NUITS-VILLAGES LA ROBIGNOTTE MONOPOLE, DOMAINE GILLES JOURDAN 2014

A harmonious and rich Côtes de Nuits village from la Robignotte, a monopole vineyard solely owned by Gilles Jourdan.

BOTTLE £24.95 CASE OF 12 £299.40



L'AURAGE. CASTILLON CÔTES DE BORDEAUX 2012

Louis Mitjavile celebrates his sixth vintage of L'Aurage with this wonderfully fresh combination of wild berries and spiced cherry compote, perfect for Christmas drinking.



POUILLY-FUISSÉ. DOMAINE DOMINIQUE CORNIN 2016

Elegant and uplifting, this wine is made by a tiny family-owned estate in the heart of southern Burgundy certified organic and run on biodynamic principles.

BOTTLE £21.50 CASE OF 12 £258.00



CHÂTEAU LA GRAVE À POMEROL 2011

One of Pomerol's top properties from Ets. Jean-Pierre Moueix – this is a sweetly perfumed, elegant, fine and brilliant right bank claret.

BOTTLE £29.50 CASE OF 12 £354.00 BOTTLE £38.95 CASE OF 12 £467.40

Celebrating in Style



Our Ayr cellars were built in 1766, housing up to 10,000 cases and can be visited on request.

Wines which stand the test of time.

We've been in business for over 230 Christmases and that's a lot of celebrating. Since there's always something to look forward to, our cellars can protect precious bottles for years to come. Older vintages and larger formats really mark an occasion and seem a fitting reward for surviving the festivities too.





DELAMOTTE BLANC DE BLANCS, LE MESNIL-SUR-OGER 2007

Well-structured, complex but delicate at the same time, Delamotte 2007 is accessible in youth but will age beautifully, if you can resist it that long.

5% OFF PRICE:

BOTTLE £46.

CASE OF 6 £280.50 CASE OF 6 £330.00

* Discount does not apply to Delamotte gifts.



CABERNET SAUVIGNON, CAKEBREAD CELLARS, NAPA VALLEY 2013

Delicious Napa Valley Cabernet, exuding opulent black fruit, balanced by Cakebread's trademark freshness and structure.

BOTTLE £63.00 CASE OF 12 £756.00



AMARONE DELLA VALPOLICELLA CLASSICO, TERRE DI CARIANO, CECILIA BERETTA 2011

This award-winning Amarone exudes spicy, dark cherry and mocha with fresh, wild berry notes and a long, sophisticated finish.

BOTTLE £32.50 CASE OF 6 £195.00



WISTON ESTATE BLANC DE BLANCS, TRADITIONAL METHOD, WEST SUSSEX 2010

From the South Downs, this English sparkling wine is reminiscent of an English meadow and baked apple, with a moreish texture and an extreme finesse.

BOTTLE £39.95 CASE OF 6 £239.70

Older Vintages and Ports Festive cheer of unrivalled quality and value.



CORNEY & BARROW 20 YEAR OLD TAWNY PORT NV

Aged Tawny port is such an accessible, easy way to enjoy port - no fuss, no decanting and at its best when served slightly chilled

BOTTLE £31.50 CASE OF 6 £189.00



GRAHAM'S VINTAGE PORT 1994

Always a Christmas treat, but forget the rituals and enjoy this classic Vintage port with nuts or cheese - or simply sip on its own (open fire optional).



CHÂTEAU BRANAIRE DUCRU, 4ÈME CRU CLASSÉ, SAINT-JULIEN 2010

A dark lustrous ruby colour, with summer pudding fruit and candied cherry, sweet and ripe and beautifully textured palate.

BOTTLE £58.65 CASE OF 12 £703.80



HERMITAGE. TARDIEU-LAURENT 2011

Decadent and spicy with flavours of blackberries, cassis and caramelised dark fruit. A memorable addition to the table!

BOTTLE £51.34 CASE OF 12 £616.08





CORTON-CHARLEMAGNE GRAND CRU. DOMAINE BONNEAU DU MARTRAY 2001

An exceedingly pure palate is beautifully underscored by a subliminal biscuit richness. An exceptional wine, with incomparable finesse.

BOTTLE £128.65 CASE OF 6 £771.90



RÜDESHEIM BERG SCHLOSSBERG RIESLING TROCKEN EG, SCHLOSS SCHÖNBORN 2009

A stunning dry Riesling, perfumed and bright, a fine aperitif or an accompaniment to smoked salmon canapes.

BOTTLE £22.95 CASE OF 12 £275.40



L'ESPÉRANCE DE TROTANOY. POMEROL 2011

Second wine to Château Trotanoy, first released in 2009. Rich, voluptuous and complements all red meats, especially lamb.

BOTTLE £51.65 CASE OF 6 £309.90



HDV CHARDONNAY. HYDE, DE VILLAINE, CARNEROS 2012

From the older blocks of the Hyde vineyard, where the vines have come of age. This has subtlety, elegance, restrained power and real character.

BOTTLE £49.95 CASE OF 12 £599.40

Christmas Gifts



Tasting experiences, book pairings, mixed cases - Christmas shopping done.

Treats for yourself & others.

Supposedly it is better to give than to receive but with nearly 5,000 bottles to choose from and almost half of these under £30 a bottle, you can afford to do both. Our team are used to handling gift lists big and small, so if you need some help in finding that perfect present, they will be happy to help.



CASE OF DELAMOTTE BLANC DE BLANCS NV WITH ICE BUCKET

Six bottles of our favourite Champagne Grand Cru Blanc de Blancs complemented by a Delamotte branded silver ice bucket.

PRICE £230.00



Six bottles of classic Champagne with six timelessly elegant glasses from Champagne Delamotte. The perfect all-inclusive gift.

6 BOTTLES + 6 GLASSES

PRICE £180.00



SYRAH, ELEPHANT HILL, HAWKES BAY 2014 (NEW TO OUR RANGE)

Seductive black fruit, cracked pepper and spice. An elegant, rather than powerful Syrah, more in common with the Northern Rhône than the New World.

BOTTLE £21.95 CASE OF 12 £263.40



ROC DE CAMBES, CÔTES DE BOURG 2011

This is an opulent and ripe wine from François Mitjaville. Beautifully textured and rich in plump cherry fruit, complemented by sweet oak.

BOTTLE £49.50 CASE OF 6 £297.00

A Book and a Bottle

Novel pairings of books and bottles that are hard to resist.

We all love presents and annual subscriptions really are the gifts that keep on giving. We've teamed up with author, Salon host and The Sunday Times wine critic, Damian Barr, to create a monthly novel pairing of books and bottles.

Would Bridget Jones choose Chardonnay now? Which Champagne does James Bond prefer? How tipsy is Ulysses? Matching wine styles with book genres, Damian and our buying team have created delicious and sometimes surprising pairings and you can hear their deliberations through the accompanying online podcasts.



How to buy a gift subscription

Visit www.abookandabottle.co.uk to buy this unique subscription. Each month's pairing, a book and bottle, will be delivered to your door (or that of the lucky recipient).

Alternatively, you can purchase a gift card for the recipient to redeem their preferred choice of pairing online.

Read more on this partnership and see the full selection that Damian had to choose at www.corneyandbarrow.com/christmas

Wine Experience Learn with us.

Corney & Barrow have a resident wine educator and trainer, Camilla, and she's put together some fabulous taster courses, designed to help you expand your wine knowledge, discover new delights and boost bravery next time you're presented with a wine list.

Meet Camilla and see our tasting rooms in action in London or Edinburgh. Learn about the main grape varieties, key regions and countries as well as the nuances of food and wine pairing, with lots of tips on storing and serving along the way.

Cheers!

DATES

Thursday 25th January 2018 - London Thursday 1st February 2018 - Edinburgh

TIME

6.30 - 8.30pm

COST PER PERSON £35

Dates don't suit?

We can arrange individual or group tastings on request. Simply tell us when you're free and what you'd like to learn.



Mixed Cases and New Wines

Staples for drinks parties and impromptu guests.

THE C&B OWN LABEL MIXED CASE

- 2 x C&B Sparkling Blanc de Blancs Méthode Traditionnelle NV
- 2 x C&B Blanc, Côtes de Gascogne, Producteurs Plaimont 2016
- 2 x C&B White Burgundy, Mâcon-Chaintré, Domaine Dominique Cornin 2016
- 2 x C&B Rouge, Vin de France, Celliers Jean d'Alibert 2016
- 2 x C&B Claret, Bordeaux, Maison Sichel 2012
- 2 x C&B Rioja Crianza, Bodegas Zugober 2013

Each own label wine is made exclusively for us, representing the best styles and regions across Europe and excellent value.

CASE £105.00



CHRISTMAS DAY CASE

- 2 x Delamotte Blanc de Blancs, Le Mesnil-sur-Oger NV
- 2 x Rully 1er Cru Rabourcé Olivier Leflaive 2015
- 2 x Passorosso, Tenuta di Passopisciaro, DOC Etna 2015
- 2 x Corney & Barrow Margaux, Maison Sichel 2014
- 1 x Corney & Barrow 10 Year Old Tawny Port NV
- 1 x Corney & Barrow Sauternes Half 2012

Everything you could possibly need for the big day in one case: Fizz, reds, whites, port and a dessert, all bases covered!

CASE £300.00







INTIPALKA MALBEC, VIÑAS QUEIROLO, ICA VALLEY 2016

'Intipalka' means 'valley of the sun' in Quechua. Ripe and savoury, this Malbec combines cherry and blueberry flavours with notes of liquorice and leather.

BOTTLE £9.95 CASE OF 6 £59.70





ELEVEN MINUTES ROSÉ FAMIGLIA PASQUA 2016

11 minutes of gentle grape pressing. The result – a glorious, ethereal pale pink colour, rich fruit and mineral freshness.

BOTTLE £14.25 CASE OF 6 £85.50



LES FOSSES D'HARENG, VOUVRAY 2015

This Chenin Blanc is a fine example of classic, off-dry Vouvray; zippy acidity and chalky minerality, a hallmark of the region.

BOTTLE £12.95 CASE OF 6 £77.70





RHEINGAU SPÄTBURGUNDER SCHLOSS SCHÖNBORN 2013

The colour is a brilliant ruby and there is an aromatic complexity, fresh, vibrant berried fruits, violet, cedar and spice.

BOTTLE £13.50 CASE OF 12 £162.00

Christmas and Beyond



Bottles to enjoy now, in the immediate future, or for years to come.

Wines worth waiting for

As you pop the cork, a new growing cycle is already underway. Buying from us you can rest assured that the wine is as the grower intended. We guarantee the conditions of wines bought and stored with us. It's called provenance, but you can call it peace of mind. Merry Christmas!



PASSOROSSO, TENUTA DI PASSOPISCIARO, DOC ETNA 2015

This is a bright fresh red, in all honesty a Pinot Noir substitute in terms of food and wine matching ideal accompaniment to poultry and game birds.

BOTTLE £32.50 CASE OF 6 £195.00



CHAMPAGNE JM LABRUYÈRE PROLOGUE BRUT GRAND CRU, VERZENAY NV

Orchard fruit flavours and a citrus lift in this Pinot Noir dominant blend, makes this is a champagne which complements hearty food.

BOTTLE £39.65 CASE OF 6 £237.90



RASTEAU VIEILLES VIGNES VIN DOUX NATUREL, TARDIEU-LAURENT 2014

This is a Rhône answer to Port, richly fruited and delicious with cheese. Only the second time this has been made by Tardieu-Laurent.

BOTTLE £21.25 CASE OF 12 £255.00



FINE DE BOURGOGNE, DOMAINE COMTE GEORGE DE VOGÜÉ

A distinctive and characterful brandy with the advantage of barrel ageing, smooth and well rounded. Extremely rare.

BOTTLE £151.50 CASE OF 6 £909.00

Big Bottles

Here's to the New Year and all the celebrations ahead.



CABERNET SAUVIGNON, DOMAINE DE SAISSAC, IGP PAYS D'OC MAGNUM 2015

A long-time favourite of Corney & Barrow. Concentrated and balanced with delicate, cedarspice notes.

MAGNUM £18.50 CASE OF 6 £111.00



L'AURAGE, CASTILLON CÔTES DE BORDEAUX, MAGNUM 2012

A wonderfully fresh combination of wild berries and spiced cherry compote - perfect Christmas drinking.

MAGNUM £65.50 CASE OF 6 £393.00



SANCERRE, DOMAINE DU NOZAY MAGNUM 2016

A classic single vineyard, now organic and in conversion to biodynamic, with ripe, grassy fruit and complex minerality.

MAGNUM £37.00 CASE OF 6 £222.00



BISERNO, TENUTA DI BISERNO. IGT TOSCANA DOUBLE MAGNUM 2011

An enchanting and rather hedonistic wine, in which upbeat, abundant fruit combines with hints of spice and dark coffee. A big bottle for a big occasion!

DOUBLE MAGNUM £406.45



IL PINO DI BISERNO. TENUTA DI BISERNO. IGT TOSCANA MAGNUM 2011

This is a wonderfully accessible, inviting wine from the enlightened, pioneering Marchese Lodovico Antinori's Tuscan estate.

MAGNUM £72.95 CASE OF 3 £218.85



DELAMOTTE BLANC DE BLANCS. LE MESNIL-SUR-OGER MAGNUM NV

This refined non-vintage Blanc de Blancs shows the family pedigree - Delamotte is the sister house of Champagne Salon. One of the rarest Champagnes.



MALBEC, BODEGA RUCA MALEN MAGNUM 2014

Indulge yourself with this premium example of Argentinas signature Malbec grape, in a format that suits it well. Silky, moreish and lingering.

MAGNUM £29.50 CASE OF 6 £177.00



CÔTES-DU-RHÔNE CUVÉE SPÉCIALE TARDIEU-LAURENT MAGNUM 2014

A wonderfully intense Rhône from 100% Grenache of 70 years old plus. Silky on the palate this has poise and elegance in abundance.

MAGNUM £39.25 CASE OF 6 £235.50

TO ORDER VISIT CORNEYANDBARROW.COM/CHRISTMAS OR CALL 020 7265 2430

And don't forget...



Champagne Delamotte

When ordering Champagne Delamotte please use the voucher code CHAMP15 to ensure you receive your discount. Discount does not apply to Delamotte gifts.



Gift Boxes

Don't forget to add a gift box to your order. Stamped with the Corney & Barrow marque, our elegant yet sturdy boxes are the perfect way to protect and enhance your gift.

1BOTTLE £8.00 2BOTTLE £12.00 3BOTTLE £15.00

Don't miss our upcoming Tastings & Events

Edinburgh Winter Tasting on 22nd November 2017, Royal College of Surgeons, Edinburgh

London Christmas Tasting on 6th December 2017, 1 Thomas More Street, London.

Burgundy Tasting on 11th January 2018 at IET London, Savoy Place.

For more information and to book spaces please drop us a line at sales@corneyandbarrow.com

Delivery Information

To receive your delivery in time for Christmas, please place your order by 1pm on 15th December. For customers who live in the Highlands please order by 1pm on 13th December and outside of mainland UK you will need to place your order by 1pm on 8th December.

Online

corneyandbarrow.com/christmas

Telephone

020 7265 2430 (London) 01875 321 921 (Edinburgh) 01292 267 000 (Ayr)* 01748 828 640 (Sedbury) 01638 600 000 (Newmarket)* *Shop

Order Form

 $Complete \ the \ enclosed \ order \ form \ and \ post \ to: \\ CORNEY \& \ BARROW, 1 \ THOMAS \ MORE \ STREET, LONDON, E_1W \ _1YZ$











